
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

Chevalet	motorisé	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Programme	arduino	:	
	
#include	<AFMotor.h>	
	
//	moteur	CC	branché	sur			M1		M2		et	M3	
AF_DCMotor	motorX(1);	
AF_DCMotor	motorY(2);	
AF_DCMotor	motorZ(3);	
	
//	déclaration	des	pins	
	
const	int	ledXpin	=	32;	//	allume	la	led	du	moteur	1	
const	int	ledYpin	=	34;	//	allume	la	led	du	moteur	2	
const	int	ledZpin	=	36;	//	allume	la	led	du	moteur	3	
const	int	ledtestantitrigopin	=	43;	//	allume	la	led	
test	bouton	2	
const	int	ledtesttrigopin	=	45;	//	allume	la	led	test	
bouton	3	
	
const	int	BoutonpinXYZ	=	24;	//	entree	pour	lire	la	
valeur	des	boutons	
const	int	Boutonpintrigo	=	25;	
const	int	Boutonpinantitrigo	=	26;	
const	int	Findecourse1	=	50;	
const	int	Findecourse2	=	52;	
	
//	valeur	de	base	des	variables	
	
int	moteurselection	=	0;	
int	valeurBouton	=	0;	
int	numeroBouton	=	0;	
bool	relachement	=	false;	
	
void	setup()		
	
		pinMode(ledtestantitrigopin,	OUTPUT);	
		pinMode(ledtesttrigopin,	OUTPUT);	
		pinMode(ledXpin,	OUTPUT);	
		pinMode(ledYpin,	OUTPUT);	
		pinMode(ledZpin,	OUTPUT);	

		digitalWrite(ledZpin,	HIGH);	
			
		//	Configuration	des	boutons	poussoirs	
	
		pinMode(BoutonpinXYZ,	INPUT_PULLUP);	
		pinMode(Boutonpintrigo,	INPUT_PULLUP);	
		pinMode(Boutonpinantitrigo,	INPUT_PULLUP);	
		pinMode(Findecourse1,	INPUT_PULLUP);	
		pinMode(Findecourse2,	INPUT_PULLUP);			
}	
	
void	loop()	{	
	
delay	(50);			
	
if	((digitalRead(BoutonpinXYZ)	==	LOW)	&&	
(!relachement)		)	//		le	BP	est	le	n°3	(	à	gauche	)	
					{	
						moteurselection	=	(moteurselection	+	1)	%	3	;		
//	on	augmente	la	valeur	de	motoselect	en	
appliquant	un	modulo	
						relachement	=	true	;	
							
							}	
	
				else	if	(digitalRead(BoutonpinXYZ)	==	HIGH	)	
				{	
				relachement	=	false	;	
				numeroBouton	=	0	;	
				directionmotor(numeroBouton)	;		
				digitalWrite(ledtesttrigopin,	LOW);	
				digitalWrite(ledtestantitrigopin,	LOW);	
				}	
					
if	(digitalRead(Boutonpintrigo)	==	LOW		&&	
digitalRead(Findecourse1)	==	HIGH)			//	le	BP	est	
le	n°1	(	à	droite)	
						{	

								numeroBouton	=	1;	
							directionmotor(numeroBouton)	;		
							digitalWrite(ledtesttrigopin,	HIGH);						
							}	
	
if	(digitalRead(Boutonpinantitrigo)	==	LOW		&&	
digitalRead(Findecourse2)	==	HIGH)		//			le	BP	est	
le	n°2	(	au	centre	)	
						{	
						numeroBouton	=	2;	
						directionmotor(numeroBouton)	;		
						digitalWrite(ledtestantitrigopin,	HIGH);	
							}	
								
						rotationMoteur(moteurselection);	
						ledAxis(moteurselection)	;				
}	
	
void	directionmotor(int	numeroBouton)	
	
			{						
							switch(numeroBouton)			
							{	
								case	0:	
										motorX.run(RELEASE);	
										motorY.run(RELEASE);	
										motorZ.run(RELEASE);	
										break;	
	
								case	1:	
										motorX.run(BACKWARD);	
										motorY.run(BACKWARD);	
										motorZ.run(BACKWARD);	
										break;	
	
								case	2:	
											motorX.run(FORWARD);	
											motorY.run(FORWARD);	



											motorZ.run(FORWARD);	
										break;	
								
							}											
				}	
	
												
void	rotationMoteur(int	motorselection)	
	
			{	
						/*	la	variable	direction	prend	3	valeurs		
							*		0	:	rotation	moteur	X	
							*		1	:	rotation	moteur	Y	
							*		2	:	rotation	moteur	Z	
							*/	
								
							switch(motorselection)			
							{	
								case	0:	
											
										motorX.setSpeed(255);	
										motorY.setSpeed(0);	
										motorZ.setSpeed(0);	
										break;	
	

								case	1:	
											
										motorX.setSpeed(0);	
										motorY.setSpeed(255);	
										motorZ.setSpeed(0);	
										break;	
	
								case	2:	
											
										motorX.setSpeed(0);	
										motorY.setSpeed(0);	
										motorZ.setSpeed(255);	
										break;	
								
							}											
				}	
	
void	ledAxis(int	motorselection)	
	
			{	
						/*	la	variable	direction	prend	3	valeurs		
							*		0	:	allume	la	led	verte	
							*		1	:	allume	la	led	jaune	
							*		2	:	allume	la	led	bleu	
							*/	

								
							switch(motorselection)			
							{	
								case	0:	
										digitalWrite(ledXpin,HIGH);	
										digitalWrite(ledYpin,LOW);	
										digitalWrite(ledZpin,LOW);	
										break;	
	
								case	1:	
										digitalWrite(ledXpin,LOW);	
										digitalWrite(ledYpin,HIGH);	
										digitalWrite(ledZpin,LOW);	
										break;	
	
								case	2:	
										digitalWrite(ledXpin,LOW);	
										digitalWrite(ledYpin,LOW);	
										digitalWrite(ledZpin,HIGH);	
										break;	
								
							}											
	
	}			

	
	
	


